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The B string of a certain guitar has a length of 58.5 cm. It vibrates at 247 Hz.
A. What is the speed of a wave on the string?

. If the linear mass density of the guitar string is 0.01135 g/cm, what tension is
. rcqu:red for the string to be in tune?
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If Prof. Shannon uses eleven states called grades, designated as follows

{A, A- B+ B, B-,C+ C,C-, D+, D, F},

to convey information to his students, then what is the capacity of this scheme to
convey information?

C= Log,tm
L)
c= ‘5.45‘143'1 5% /aads

[f Prof. Shannon tends to issue grades with the following distribution
{1/4, 1/4, 174, 1/8, 1/8, 0,0, 0, 0, 0, 0}

Then what is the actual amount of information he is conveving per grade? (You may
~want to use the table on the next page.)
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